
東京計器アビエーション株式会社

デシベルについての資料

１０ｌｏｇ（Ｐｏ／Ｐｉ） 何倍？ ２０ｌｏｇ（Ｅｏ／Ｅｉ） 何倍？

０　ｄＢ １０ｌｏｇ１０ １ ２０ｌｏｇ１０ １

１０　ｄＢ １０ｌｏｇ１０ １０ ２０ｌｏｇ１０ ３．１６

２０　ｄＢ １０ｌｏｇ１０ １００ ２０ｌｏｇ１０ １０

３０　ｄＢ １０ｌｏｇ１０ １，０００ ２０ｌｏｇ１０ ３１．６

４０　ｄＢ １０ｌｏｇ１０ １０，０００ ２０ｌｏｇ１０ １００

５０　ｄＢ １０ｌｏｇ１０ １００，０００ ２０ｌｏｇ１０ ３１６

６０　ｄＢ １０ｌｏｇ１０ １，０００，０００ ２０ｌｏｇ１０ １，０００

７０　ｄＢ １０ｌｏｇ１０ １０，０００，０００ ２０ｌｏｇ１０ ３，１６２

８０　ｄＢ １０ｌｏｇ１０ １００，０００，０００ ２０ｌｏｇ１０ １０，０００

９０　ｄＢ １０ｌｏｇ１０ １，０００，０００，０００ ２０ｌｏｇ１０ ３１，６２３

１００　ｄＢ １０ｌｏｇ１０ １０，０００，０００，０００ ２０ｌｏｇ１０ １００，０００

Ｐｉ，Ｅｉ Ｐｏ，Ｅｏ 増幅の場合：Ｐｏ／Ｐｉ＝Ｅｏ／Ｅｉ＝Ａ倍

１０ｌｏｇ（Ｐｏ／Ｐｉ） 何倍？ ２０ｌｏｇ（Ｅｏ／Ｅｉ） 何倍？

０　ｄＢ １０ｌｏｇ１０ １ ２０ｌｏｇ１０ １

－１０　ｄＢ １０ｌｏｇ１０ ０．１ ２０ｌｏｇ１０ ０．３

－２０　ｄＢ １０ｌｏｇ１０ ０．０１ ２０ｌｏｇ１０ ０．１

－３０　ｄＢ １０ｌｏｇ１０ ０．００１ ２０ｌｏｇ１０ ０．０３

－４０　ｄＢ １０ｌｏｇ１０ ０．０００１ ２０ｌｏｇ１０ ０．０１

－５０　ｄＢ １０ｌｏｇ１０ ０．００００１ ２０ｌｏｇ１０ ０．００３

－６０　ｄＢ １０ｌｏｇ１０ ０．０００００１ ２０ｌｏｇ１０ ０．００１

－７０　ｄＢ １０ｌｏｇ１０ ０．００００００１ ２０ｌｏｇ１０ ０．０００３

－８０　ｄＢ １０ｌｏｇ１０ ０．０００００００１ ２０ｌｏｇ１０ ０．０００１

－９０　ｄＢ １０ｌｏｇ１０ ０．００００００００１ ２０ｌｏｇ１０ ０．００００３

－１００　ｄＢ １０ｌｏｇ１０ ０．０００００００００１ ２０ｌｏｇ１０ ０．００００１

Ｐｉ，Ｅｉ Ｐｏ，Ｅｏ 減衰の場合：Ｐｏ／Ｐｉ＝Ｅｏ／Ｅｉ＝１／Ａ倍＝Ａ　倍

電力（Ｗ） 電界強度（Ｖ／ｍ）デシベル
（増幅）

デシベル
（減衰）

電力（Ｗ） 電界強度（Ｖ／ｍ）
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